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‘Which expression matches the model shown?

THWH + AAA

A 4+(Y) B —4+(=3

c -3-a D. 3-(-4)
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Which of the following represents the statement
“3 times the sum of 2 and 477

A 3x244 B. 3+@x4)

C 3x4+42 D. 3xQ2+4)
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Four friends bought 2 pizzas and 4 large soft
drinks.

 They shared the cost equally.
 Each pizza cost S1199.
 Each large soft drink cost SL85.

Which of the following could be used to determine

the amount each friend should have paid?

A [@xSI1L99)+(2xS185)]+4

B. [2xSI1.99)+(@xSI185)]+4

C @ +4)x(S11.99xS185]+4

D. [@xSI11L99)x (4xSLES) +4
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For a sale, the price of a computer was reduced by
$100 1o $950. Which of the following expressions

represents the price of the computer before the
sale?

A 100+950 B. 100950

c. 950100 D. oSl

100
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Grant and Juan were playing basketball. Let b
represent the number of baskets that Grant made.
The number of baskels that Jusn made is equal
to 4x b. Which sentence correctly describes the
number of baskets Juan made?

A. 4 less than the number of baskets Grant made

B. 4 more than the number of baskets Grant
‘made

€. 4 times the number of baskets Grant made

D. 4 divided by the number of baskets Grant
‘made




